PROJECT: Vineyard Boulevard Resurfacing Vicinity of Palama Street to End of H-1 On-and-Off Ramp FEDERAL-AID PROJECT NO.: STP-098-1(011) NET LENGTH OF PROJECT: 1.76 Miles ISLAND: Oahu DISTRICT: Honolulu TYPE CODE: 05, 31, 43  DATE ADVERTISED: Internet Posting - December 28, 2012  BID OPENED: February 28, 2013  COMPLETION TIME: One hundred eighty (180) Working Days			** NOTE: Quantities shown in this column are for in-house use only.		GRACE PACIFIC CORPORATION		HARON CONSTRUCTION, INC.		JAS. W. GLOVER, LTD.		ROAD AND HIGHWAY BUILDERS, LLC		MEGA CONSTRUCTION, INC.		IDEAL CONSTRUCTION, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.1000	Clearing and Grubbing	L.S.	8,000 S.F.	L.S.	L.S.	\$18,000.00	L.S.	\$13,500.00	L.S.	\$21,000.00	L.S.	\$20,000.00	L.S.	\$19,906.00	L.S.	\$60,000.00	L.S.	\$4,000.00
202.0501	Relocate Existing Pullbox	F.A.	1 EACH	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
202.0502	Relocate City & County DTS Pullbox	L.S.	1 EACH	L.S.	L.S.	\$3,400.00	L.S.	\$12,000.00	L.S.	\$3,800.00	L.S.	\$20,000.00	L.S.	\$12,400.00	L.S.	\$13,000.00	L.S.	\$15,000.00
203.0100	Roadway Excavation	330	330	C.Y.	\$130.00	\$42,900.00	\$100.00	\$33,000.00	\$215.00	\$70,950.00	\$250.00	\$82,500.00	\$215.00	\$70,950.00	\$250.00	\$82,500.00	\$100.00	\$33,000.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	L.S.	L.S.	L.S.	L.S.	\$34,000.00	L.S.	\$100,000.00	L.S.	\$22,200.00	L.S.	\$100,000.00	L.S.	\$11,600.00	L.S.	\$45,000.00	L.S.	\$60,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	F.A.	F.A.	F.A.	F.A.	\$250,000.00	F.A.	\$250,000.00	F.A.	\$250,000.00	F.A.	\$250,000.00	F.A.	\$250,000.00	F.A.	\$250,000.00	F.A.	\$250,000.00
301.1000	Hot Mix Asphalt Base Course	6,947	6,947	TONS	\$165.00	\$1,146,255.00	\$183.00	\$1,271,301.00	\$188.00	\$1,306,036.00	\$150.00	\$1,042,050.00	\$200.00	\$1,389,400.00	\$250.00	\$1,736,750.00	\$150.00	\$1,042,050.00
305.1000	Aggregate Subbase	L.S.	330 TONS	L.S.	L.S.	\$33,000.00	L.S.	\$25,000.00	L.S.	\$43,300.00	L.S.	\$900,000.00	L.S.	\$25,684.00	L.S.	\$490,000.00	L.S.	\$49,500.00
401.0100	HMA Pavement, Mix No. IV	14,485	14,485	TONS	\$187.00	\$2,708,695.00	\$205.00	\$2,969,425.00	\$210.00	\$3,041,850.00	\$115.00	\$1,665,775.00	\$240.00	\$3,476,400.00	\$325.00	\$4,707,625.00	\$150.00	\$2,172,750.00
411.1000	P.C.C. Bus Pad	L.S.	4 EACH	L.S.	L.S.	\$132,000.00	L.S.	\$90,000.00	L.S.	\$340,000.00	L.S.	\$200,000.00	L.S.	\$221,500.00	L.S.	\$160,000.00	L.S.	\$200,000.00
414.0100	Excavation of Weakened Pavement Areas	5,042	5,042	C.Y.	\$75.00	\$378,150.00	\$83.00	\$418,486.00	\$106.00	\$534,452.00	\$247.00	\$1,245,374.00	\$90.00	\$453,780.00	\$105.00	\$529,410.00	\$10.00	\$50,420.00
415.0100	Cold Planing	L.S.	85,181 S.Y.	L.S.	L.S.	\$590,000.00	L.S.	\$645,000.00	L.S.	\$670,000.00	L.S.	\$1,700,000.00	L.S.	\$748,200.00	L.S.	\$590,000.00	L.S.	\$255,543.00
603.9000	Clean Existing Culverts	F.A.	F.A.	F.A.	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00
604.4100	Adjusting Storm Drain Manhole Frame and Cover	27	27	EACH	\$800.00	\$21,600.00	\$600.00	\$16,200.00	\$525.00	\$14,175.00	\$1,000.00	\$27,000.00	\$2,086.00	\$56,322.00	\$500.00	\$13,500.00	\$1,000.00	\$27,000.00
604.4200	Adjusting Water Manhole Frame and Cover	67	67	EACH	\$800.00	\$53,600.00	\$600.00	\$40,200.00	\$500.00	\$33,500.00	\$1,000.00	\$67,000.00	1	\$139,829.00		\$33,500.00	·	\$67,000.00
604.4300	Adjusting Water Valve Box Frame and Cover	53	53	EACH	\$800.00	\$42,400.00	\$600.00	\$31,800.00	\$500.00	\$26,500.00	\$1,000.00	\$53,000.00		\$110,611.00		\$21,200.00		\$39,750.00
604.4400	Adjusting Sewer Manhole Frame and Cover	39	39	EACH	\$800.00	\$31,200.00	\$600.00	\$23,400.00	\$550.00	\$21,450.00	\$1,000.00	\$39,000.00		\$81,315.00	·	\$19,500.00		\$39,000.00
<u></u>																	Sheet No. 1 of 5	

PROJECT: Vineyard Boulevard Resurfacing Vicinity of Palama Street to End of H-1 On-and-Off Ramp FEDERAL-AID PROJECT NO.: STP-098-1(011)  ISLAND: Oahu  DISTRICT: Honolulu  TYPE CODE: 05, 31, 43  DATE ADVERTISED: Internet Posting - December 28, 2012  BID OPENED: February 28, 2013  COMPLETION TIME: One hundred eighty (180) Working Days			** NOTE: Quantities shown in this column are for in-house use only.		GRACE PACIFIC CORPORATION		HARON CONSTRUCTION, INC.		JAS. W. GLOVER, LTD.		ROAD AND HIGHWAY BUILDERS, LLC		MEGA CONSTRUCTION, INC.		IDEAL CONSTRUCTION, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
604.4500	Adjusting HECO Manhole Frame and Cover	6	6 EACH	EACH	\$1,100.00	\$6,600.00	\$800.00	\$4,800.00	\$1,150.00	\$6,900.00	\$1,000.00	\$6,000.00	\$4,884.00	\$29,304.00		\$3,600.00		\$6,000.00
604.4600	Adjusting Hawaiian Telcom Manhole Frame and Cover	3	3 EACH	EACH	\$1,100.00	\$3,300.00	\$800.00	\$2,400.00	\$1,250.00	\$3,750.00	\$1,000.00	\$3,000.00	\$4,900.00	\$14,700.00	\$600.00	\$1,800.00		\$3,000.00
607.0160	6-Feet Chain Link Fence	L.S.	980 L.F.	L.S.	L.S.	\$45,000.00	L.S.	\$45,000.00	L.S.	\$52,250.00	L.S.	\$100,000.00	L.S.	\$58,500.00	L.S.	\$65,000.00	L.S.	\$49,000.00
610.1000	8-Inch Reinforced Concrete Driveway	4	4 EACH	EACH	\$7,900.00	\$31,600.00	\$6,000.00	\$24,000.00	\$27,100.00	\$108,400.00	\$10,000.00	\$40,000.00	\$9,620.00	\$38,480.00	\$8,500.00	\$34,000.00	\$10,000.00	\$40,000.00
613.1000	Adjusting Centerline and Reference Survey Monuments	7	7 EACH	EACH	\$800.00	\$5,600.00	\$600.00	\$4,200.00	\$885.00	\$6,195.00	\$1,000.00	\$7,000.00	\$2,929.00	\$20,503.00	\$600.00	\$4,200.00	\$1,000.00	\$7,000.00
616.1000	Permanent Irrigation System	L.S.	8,000 S.F.	L.S.	L.S.	\$75,000.00	L.S.	\$71,500.00	L.S.	\$66,500.00	L.S.	\$90,000.00	L.S.	\$72,200.00	L.S.	\$100,000.00	L.S.	\$16,000.00
618.1000	Soil Preparation	L.S.	8,000 S.F.	L.S.	L.S.	\$11,000.00	L.S.	\$25,000.00	L.S.	\$9,600.00	L.S.	\$5,000.00	L.S.	\$10,500.00	L.S.	\$6,000.00	L.S.	\$16,000.00
618.2000	Imported Compost	L.S.	80 C.Y.	L.S.	L.S.	\$16,000.00	L.S.	\$8,000.00	L.S.	\$14,000.00	L.S.	\$10,000.00	L.S.	\$15,100.00	L.S.	\$14,000.00	L.S.	\$5,600.00
619.0010	Naio (Myoporum sandwicense) 2 feet width, 2 feet height, 3 gallon	L.S.	730 EACH	L.S.	L.S.	\$31,000.00	L.S.	\$25,500.00	L.S.	\$28,000.00	L.S.	\$11,000.00	L.S.	\$30,000.00	L.S.	\$14,000.00	L.S.	\$32,850.00
619.0020	Rainbow Shower Tree (Cassia neliae) 3 to 4 inches caliper, 50 gallon, 10 to 12 feet height	L.S.	18 EACH	L.S.	L.S.	\$17,000.00	L.S.	\$37,700.00	L.S.	\$15,300.00	L.S.	\$80,000.00	L.S.	\$16,500.00	L.S.	\$95,000.00	L.S.	\$49,500.00
619.0030	Ilie'e (Plumbago zeylanica) 0.5 foot width, 1 foot height, 1 gallon	L.S.	5,000 EACH	L.S.	L.S.	\$38,000.00	L.S.	\$56,000.00	L.S.	\$33,600.00	L.S.	\$35,000.00	L.S.	\$36,000.00	L.S.	\$47,000.00	L.S.	\$50,000.00
619.0120	Plastic Header	L.S.	2,300 L.F.	L.S.	L.S.	\$21,000.00	L.S.	\$7,000.00	L.S.	\$18,300.00	L.S.	\$5,000.00	L.S.	\$19,600.00	L.S.	\$7,000.00	L.S.	\$10,350.00
619.0130	Bark Mulch	L.S.	150 C.Y.	L.S.	L.S.	\$5,600.00	L.S.	\$4,100.00	L.S.	\$5,000.00	L.S.	\$5,000.00	L.S.	\$5,400.00	L.S.	\$8,000.00	L.S.	\$10,500.00
623.0103	Pedestrian Push Button Pedestal with Foundation and Instruction Sign	1	1 EACH	EACH	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$3,300.00	\$3,300.00	\$4,500.00	\$4,500.00	\$2,200.00	\$2,200.00
623.3060	Traffic Signal Assembly (One-Way, 12-Inch, 1-3 Section Vertical with Mast Arm Mounting) with LED Signal Lights	31	31 EACH	EACH	\$900.00	\$27,900.00	\$1,200.00	\$37,200.00	\$900.00	\$27,900.00	\$1,200.00	\$37,200.00	\$900.00	\$27,900.00	\$1,600.00	\$49,600.00	\$1,600.00	\$49,600.00

DATE ADVERTISED: Internet Posting - December 28, 2012  BID OPENED: February 28, 2013  *** NO Quanti shown column			** NOTE: Quantities shown in this column are for in-house use only.		GRACE PACIFIC CORPORATION		HARON CONSTRUCTION, INC.		JAS. W. GLOVER, LTD.		ROAD AND HIGHWAY BUILDERS, LLC		MEGA CONSTRUCTION, INC.		IDEAL CONSTRUCTION, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISIO	
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
623.3900	Approach-Only Microwave Vehicle Detector	19	19 EACH	EACH	\$675.00	\$12,825.00	\$1,400.00	\$26,600.00	\$670.00	\$12,730.00	\$3,000.00	\$57,000.00	\$700.00	\$13,300.00		\$30,400.00	\$600.00	\$11,400.00
623.4001	Traffic Signal Back Plates (Louvered, Black)	31	31 EACH	EACH	\$115.00	\$3,565.00	\$325.00	\$10,075.00	\$110.00	\$3,410.00	\$100.00	\$3,100.00	\$120.00	\$3,720.00	\$140.00	\$4,340.00	\$150.00	\$4,650.00
623.7051	Loop Detector Sensing Unit (6 Ft. x 6 Ft.) One Loop	35	35 EACH	EACH	\$790.00	\$27,650.00	\$750.00	\$26,250.00	\$780.00	\$27,300.00	\$700.00	\$24,500.00	\$850.00	\$29,750.00	\$900.00	\$31,500.00	\$800.00	\$28,000.00
623.7054	Loop Detector Sensing Unit (6 Ft. x 6 Ft.) Four Loops	6	6 EACH	EACH	\$3,200.00	\$19,200.00	\$2,600.00	\$15,600.00	\$3,200.00	\$19,200.00	\$700.00	\$4,200.00	\$3,400.00	\$20,400.00	\$3,000.00	\$18,000.00	\$3,200.00	\$19,200.00
623.7056	Loop Detector Sensing Unit (6 Ft. x 6 Ft.) Six Loops	16	16 EACH	EACH	\$4,700.00	\$75,200.00	\$4,500.00	\$72,000.00	\$4,700.00	\$75,200.00	\$700.00	\$11,200.00	\$5,100.00	\$81,600.00	\$4,400.00	\$70,400.00	\$4,800.00	\$76,800.00
624.0100	Water Systems	L.S.	L.S.	L.S.	L.S.	\$6,600.00	L.S.	\$4,000.00	L.S.	\$36,900.00	L.S.	\$40,000.00	L.S.	\$40,170.00	L.S.	\$35,000.00	L.S.	\$10,000.00
629.1010	Double 4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	L.S.	414 L.F.	L.S.	L.S.	\$4,500.00	L.S.	\$750.00	L.S.	\$740.00	L.S.	\$1,000.00	L.S.	\$1,200.00	L.S.	\$1,000.00	L.S.	\$1,656.00
629.1011	4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	L.S.	40, 439 L.F.	L.S.	L.S.	\$54,000.00	L.S.	\$56,500.00	L.S.	\$57,400.00	L.S.	\$60,000.00	L.S.	\$92,500.00	L.S.	\$70,000.00	L.S.	\$80,878.00
629.1013	8-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	L.S.	6,084 L.F.	L.S.	L.S.	\$16,000.00	L.S.	\$15,300.00	L.S.	\$15,500.00	L.S.	\$20,000.00	L.S.	\$25,000.00	L.S.	\$18,000.00	L.S.	\$24,336.00
629.1020	12-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	L.S.	6,996 L.F.	L.S.	L.S.	\$2,300.00	L.S.	\$2,046.00	L.S.	\$2,100.00	L.S.	\$2,000.00	L.S.	\$3,500.00	L.S.	\$2,500.00	L.S.	\$34,980.00
629.1022	12-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	L.S.	58 L.F.	L.S.	L.S.	\$4,400.00	L.S.	\$4,830.00	L.S.	\$4,900.00	L.S.	\$5,000.00	L.S.	\$7,900.00	L.S.	\$6,000.00	L.S.	\$696.00
629.1030	Crosswalk Marking (Tape, Type III or Thermoplastic Extrusion)	L.S.	263 LANES	L.S.	L.S.	\$52,000.00	L.S.	\$69,000.00	L.S.	\$70,050.00	L.S.	\$70,000.00	L.S.	\$113,700.00	L.S.	\$80,000.00	L.S.	\$105,200.00
629.1040	Pavement Arrows (Tape, Type III or Thermoplastic Extrusion)	L.S.	90 EACH	L.S.	L.S.	\$13,000.00	L.S.	\$14,400.00	L.S.	\$14,650.00	L.S.	\$15,000.00	L.S.	\$23,600.00	L.S.	\$18,000.00	L.S.	\$27,000.00
629.1050	Pavement Word (Tape, Type III or Thermoplastic Extrusion)	L.S.	10 EACH	L.S.	L.S.	\$1,700.00	L.S.	\$2,230.00	L.S.	\$2,270.00	L.S.	\$2,000.00	L.S.	\$3,800.00	L.S.	\$2,500.00	L.S.	\$3,000.00
							<u>-</u>	1				<u> </u>					Sheet No. 3 of 5	Sheets

PROJECT: Vineyard Boulevard Resurfacing
Vicinity of Palama Street to End of H-1 On-and-Off Ramp

FEDERAL-AID

PROJECT NO.: STP-098-1(011) NET LENGTH OF PROJECT: 1.76 Miles  ISLAND: Oahu DISTRICT: Honolulu TYPE CODE: 05, 31, 43  DATE ADVERTISED: Internet Posting - December 28, 2012  BID OPENED: February 28, 2013  COMPLETION TIME: One hundred eighty (180) Working Days  ** NOTE: Quantities shown in this column are for in-house use only.					GRACE PACIFIC CORPORATION		HARON CONSTRUCTION, INC.		JAS. W. GLOVER, LTD.		ROAD AND HIGHWAY BUILDERS, LLC		MEGA CONSTRUCTION, INC.		IDEAL CONSTRUCTION, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	Terretain terretain and a second	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.2010	Type "A" Pavement Markers	L.S.	2,746 EACH	L.S.	L.S.	\$23,000.00	L.S.	\$16,200.00	L.S.	\$16,500.00	L.S.	\$15,000.00	L.S.	\$26,700.00	L.S.	\$20,000.00	L.S.	\$21,968.00
629.2030	Type "C" Pavement Markers	L.S.	1,533 EACH	L.S.	L.S.	\$13,000.00	L.S.	\$6,300.00	L.S.	\$16,400.00	L.S.	\$6,000.00	L.S.	\$10,500.00	L.S.	\$8,000.00	L.S.	\$15,330.00
629.2040	Type "D" Pavement Markers	L.S.	21 EACH	L.S.	L.S.	\$620.00	L.S.	\$220.00	L.S.	\$270.00	L.S.	\$1,000.00	L.S.	\$450.00	L.S.	\$400.00	L.S.	\$210.00
629.2070	Type "H" Pavement Markers	L.S.	419 EACH	L.S.	L.S.	\$4,500.00	L.S.	\$1,808.00	L.S.	\$1,850.00	L.S.	\$2,000.00	L.S.	\$3,100.00	L.S.	\$2,200.00	L.S.	\$4,190.00
630.4010	Type "A" Route Marker Assembly	L.S.	1 EACH	L.S.	L.S.	\$790.00	L.S.	\$500.00	L.S.	\$800.00	L.S.	\$1,000.00	L.S.	\$1,100.00	L.S.	\$7,000.00	L.S.	\$115.00
631.5001	Warning Sign (10 Square Feet or Less)	L.S.	5 EACH	L.S.	L.S.	\$1,900.00	L.S.	\$2,000.00	L.S.	\$1,900.00	L.S.	\$3,000.00	L.S.	\$3,740.00	L.S.	\$18,000.00	L.S.	\$2,000.00
631.5002	Relocation of Existing Regulatory Sign	L.S.	1 EACH	L.S.	L.S.	\$850.00	L.S.	\$500.00	L.S.	\$850.00	L.S.	\$2,000.00	L.S.	\$720.00	L.S.	\$1,600.00	L.S.	\$200.00
632.0100	Reflector Marker (RM-2, White) with Flexible Delineator Post	L.S.	5 EACH	L.S.	L.S.	\$1,500.00	L.S.	\$800.00	L.S.	\$1,500.00	L.S.	\$1,000.00	L.S.	\$1,100.00	L.S.	\$7,000.00	L.S.	\$400.00
632.0200	Mile Post Marker and Route Number Plate Without Post	L.S.	2 EACH	L.S.	L.S.	\$735.00	L.S.	\$500.00	L.S.	\$750.00	L.S.	\$1,000.00	L.S.	\$650.00	L.S.	\$2,000.00	L.S.	\$350.00
634.1000	Portland Cement Concrete Sidewalk	L.S.	3,817 S.Y.	L.S.	L.S.	\$660,000.00	L.S.	\$500,000.00	L.S.	\$625,000.00	L.S.	\$750,000.00	L.S.	\$901,510.00	L.S.	\$470,000.00	L.S.	\$572,550.00
638.1000	Curb, Type 2D	L.S.	4,665 L.F.	L.S.	L.S.	\$439,000.00	L.S.	\$330,000.00	L.S.	\$451,000.00	L.S.	\$500,000.00	L.S.	\$348,274.00	L.S.	\$115,000.00	L.S.	\$349,875.00
638.2000	Curb and Gutter, Type 2DG	L.S.	1,608 L.F.	L.S.	L.S.	\$93,000.00	L.S.	\$70,000.00	L.S.	\$155,000.00	L.S.	\$100,000.00	L.S.	\$143,064.00	L.S.	\$60,000.00	L.S.	\$120,600.00
	Curb and Gutter, Modified Type 2DG	L.S.	280 L.F.	L.S.	L.S.	\$73,000.00	L.S.	\$45,000.00	L.S.	\$119,000.00	L.S.	\$75,000.00	L.S.	\$46,620.00	L.S.	\$30,000.00	L.S.	\$21,000.00
	Maintenance of Existing Landscape Areas	F.A.	F.A.	F.A.	F.A.	\$12,500.00	F.A.	\$12,500.00	F.A.	\$12,500.00	F.A.	\$12,500.00	F.A.	\$12,500.00	F.A.	\$12,500.00	F.A.	\$12,500.00
645.0100	Traffic Control	L.S.	L.S.	L.S.	L.S.	\$380,000.00	L.S.	\$600,000.00	L.S.	\$161,000.00	L.S.	\$450,000.00	L.S.	\$974,000.00	L.S.	\$600,000.00	L.S.	\$379,000.00
645.0200	Additional Police Officers and/or Additional Control Devices and Advertisement	F.A.	F.A.	F.A.	F.A.	\$350,000.00	F.A.	\$350,000.00	F.A.	\$350,000.00	F.A.	\$350,000.00	F.A.	\$350,000.00	F.A.	\$350,000.00	F.A.	\$350,000.00
648.0100	Field-Posted Drawings	L.S.	L.S.	L.S.	L.S.	\$12,000.00	L.S.	\$2,500.00	L.S.	\$3,200.00	L.S.	\$10,000.00	L.S.	\$3,600.00	L.S.	\$12,000.00	L.S.	\$1,000.00
															<u></u>	ψ : <u>2,</u> 000.00]	Sheet No. 4 of 5 S	heets

Li Nah Okita, Project Manager

Vicinity of Palama Street to End of H-1 On-and-Off Ramp  PROJECT NO.: STP-098-1(011) NET LENGTH OF PROJECT: 1.76 Miles  ISLAND: Oahu DISTRICT: Honolulu TYPE CODE: 05, 31, 43  DATE ADVERTISED: Internet Posting - December 28, 2012  BID OPENED: February 28, 2013  COMPLETION TIME: One hundred eighty (180) Working Days		GRACE PACIFIC CORPORATION		HARON CONSTRUCTION, INC.		JAS. W. GLOVER, LTD.		ROAD AND HIGHWAY BUILDERS, LLC		MEGA CONSTRUCTION, INC.		IDEAL CONSTRUCTION, INC.		DEPART TRANSP	E OF HAWAII RTMENT OF SPORTATION AYS DIVISION			
ITEM NO.	ITEM	APPROX. QUANTITY			UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
650.0100	Curb Ramp, Type C	L.S.	1 EACH	L.S.	L.S.	\$18,000.00	L.S.	\$14,000.00	L.S.	\$11,000.00		\$60,000.00		\$24,300.00		\$4,000.00		\$5,000.00
650.0200	Detectable Warnings	L.S.	72 EACH	L.S.	L.S.	\$59,000.00	L.S.	\$45,000.00	L.S.	\$70,000.00	L.S.	\$20,000.00	L.S.	\$153,900.00		\$100,000.00		\$9,000.00
696.2000	Maintenance of Trailers	F.A.	F.A.	F.A.	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00		\$50,000.00
699.1000	Mobilization (Not to Exceed 6 Percent of the Sum of All Items Excluding the Bid Price of This Item)	L.S.	LS	L.S.	L.S.	\$450,000.00	L.S.	\$400,000.00	L.S.	\$306,222.00	L.S.	\$480,712.00	L.S.	\$574,600.00	L.S.	\$585,000.00	L.S.	\$360,000.00
	A. Sum of All Items					\$8,814,135.00	*	<b>\$9,117,121.00</b> \$8,949,421.00		\$9,550,000.00		\$11,111,111.00	٨	^ \$11,611,452.00		\$12,103,025.00	)	\$7,410,697.00
	B. Either Furnish Foreign Steel Not to Exceed Minimal Amount ( Furnish Foreign Steel in Excess of Minimal Amount (Fill in 259)	. (Fill in '0') or 5% x A)				\$0.00	-	\$0.00		\$0.00	-	\$0.00		\$11,612,152.00 \$0.00		\$0.00	<u>,                                    </u>	\$0.00
	C. Amount for Comparison of Bids (A + B)	70 A 7 Y				\$8,814,135.00	*	<b>\$9,117,121.00</b> \$8,949,421.00		\$9,550,000.00	)    #	\$11,111,111.00	۸	<b>\$11,611,452.00</b> <b>\$11,612,152.00</b>	com	\$12,103,025.00	I	\$7,410,697.00
	# Bid submitted by Road and Highway Builders, LLC was reject * The Sum of All Items submitted by Haron Construction, Inc. in ^ The Sum of All Items submitted by Mega Construction, Inc. in	in the amount of	of \$8,949,421.00	00 did not add up t	to the calculated to the calculated	Sum of All Items what Sum of All Items was	nich is \$9,117.12 hich is \$11,611,4	1.00. 452.00.										

Sheet No. 5 of 5 Sheets